

# Bi-Univalent function Associated with Fractional derivative operator

K.K. Dixit<sup>a</sup> and A.L. Pathak<sup>b</sup>

<sup>a</sup>Department of Mathematics, Janta College, Bakewar,  
Etawah, 206124, U.P. India

<sup>b</sup>Department of Mathematics, Brahmanand College,  
The Mall, Kanpur, 208004, U.P. India

## Abstract

The purpose of the present paper is to introduce a new subclass of the function class  $\Sigma$  of bi-univalent functions defined in the open unit disk, which is associated with the fractional derivative operator. Furthermore, we obtain estimates on the Taylor-Maclaurin coefficient  $|a_2|$  and  $|a_3|$  for the functions belonging to this new subclasses.

**Subject class** :30C45.

**Keywords:** Bi-univalent function, fractional derivative operator, Taylor-Maclaurin coefficient.

## 1 Introduction

Let  $A$  denote the class of function  $f$  of the form

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

which are analytic in the open unit disk  $U\{z \in C : |z| < 1\}$  and satisfy the normalized condition  $f(0) = f'(0) - 1 = 0$ . Further, by  $S$  we shall denote the class of all function in  $A$  which are univalent in  $U$ .

Following definition of fractional derivative and fractional integrals are due to Owa [7] and Srivastava and Owa [12]

**Definition 1.1.** The fractional integral of order  $\lambda$  is defined for a function  $f(z)$  of the form (1.1)

$$(1.2) \quad D_z^{-\lambda} = \frac{1}{\Gamma(\lambda)} \int_0^z \frac{f(\varsigma) d\varsigma}{(z - \varsigma)^{1-\lambda}},$$

where  $\lambda > 0$ ,  $f(z)$  in an analytic function in a simply connected region of the  $z$ -plane containing the origin and the multiplicity of  $(z - \varsigma)^{1-\lambda}$  is removed by requiring  $\log(z - \varsigma)$  to be real when  $(z - \varsigma) > 0$ .

**Definition 1.2.** The fractional derivative of order  $\lambda$  is defined for a function  $f(z)$  of the form (1.1) by

$$(1.3) \quad D^{\lambda} f(z) = \frac{1}{\Gamma(1-\lambda)} \frac{d}{dz} \int_0^z \frac{f(\zeta) d\zeta}{(z-\zeta)^{\lambda}}$$

where  $0 \leq \lambda < 1$ ,  $f(z)$  is an analytic function in a simply connected region of the  $z$ -plane containing the origin and the multiplicity of  $z-\zeta$  is removed as in Definition 1.1 given above.

**Definition 1.3.** Under the hypothesis of Definition 1.2, the fractional derivative of order  $n + \lambda$  is defined for function  $f(z)$  by

$$(1.4) \quad D_z^{n+\lambda} f(z) = \frac{d^n}{dz^n} f(z)$$

where  $0 \leq \lambda < 1$  and  $n \in N_0 - \{0, 1, 2, 3, \dots\}$ .

For  $f$  of the form (1.1), using the Definition 1.2 and Definition 1.3, Dixit and Porwal [5] introduced a fractional derivative operator as

$$\begin{aligned} \Omega^0 \lambda(f) &= f(z) \\ \Omega_\lambda^1 f(z) &= \Gamma(1-\lambda) z^{1+\lambda} D_z^{1+\lambda} D_z^{1+\lambda} f(z) = \Omega_\lambda f(z) \\ &\quad \text{---} \\ \Omega_\lambda^n f(z) &= \Omega_\lambda(\Omega_\lambda^{n-1} f(z)), \end{aligned}$$

one can easily obtain

$$\Omega_\lambda^n f(z) = z + \sum_{k=2}^{\infty} [\phi(k, \lambda)]^n a_k z^k$$

where

$$\phi(k, \lambda) = \frac{\Gamma(k+1)\Gamma(1-\lambda)}{\Gamma(k-\lambda)}.$$

It is worthy to note that for  $\lambda = 0$ ,  $\Omega^n f(z)$  reduces to familiar Salagean operator defined by Salagean [10].

For  $n \in N_0$ ,  $0 \leq \beta < 1$ ,  $\mu \geq 0$  and  $0 \leq \lambda < 1$ , we introduce the subclass  $Q(n, \mu, \lambda, \beta)$  of  $S$  of function of the form (1.1) satisfying the condition.

$$(1.5) \quad \operatorname{Re} \left( \frac{(1-\mu)\Omega_\lambda^n f(z) + \mu\Omega_\lambda^{n+1} f(z)}{z} \right) > \beta, z \in U$$

where  $\Omega_\lambda^n$  stands for fractional derivative operator introduced by Dixit and Porwal [5]. For  $n = 0$  and  $\lambda = 0$  it reduces to the class  $Q_\mu(\beta)$  studied by Ding et al. [4], (see also [1, 2, 6, 13]).

It is known that every  $f \in S$  has an inverse  $f^{-1}$ , defined by

$$f^{-1}(f(z)) = z, (z \in U)$$

and

$$f^{-1}(f(w)) = w, \quad \left( |w| < r_0(f), \quad r_0(f) \geq \frac{1}{4} \right)$$

where

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4.$$

A function  $f(z) \in A$  is said to be bi-univalent in  $U$  if both  $f(z)$  and  $f^{-1}(z)$  are univalent in  $U$ .

Let  $\Sigma$  denote the class of bi-univalent function (1.1) in  $U$ . One may refer Srivastava et al [11] and reference there in for some basic results.

Recently, several researchers such as [9, 11] found the coefficients  $|a_2|, |a_3|$  of bi-univalent class  $\Sigma$ . Motivated with their work, we introduce a new subclass of the function class  $\Sigma$  and obtain estimates on the coefficients  $|a_2|$  and  $|a_3|$  for function in there new subclass of class  $\Sigma$ . We have employed the techniques used earlier by Srivastava et al. [11] and Porwal and Darus [9].

In this paper, we required the following Lemma due to [8].

**Lemma 1.1.** If  $h \in P$  then  $|c_k| \leq 2$  for each  $k$ , where  $P$  is the family of all function  $h$  analytic in  $U$  for which  $\operatorname{Re}\{h(z)\} > 0$ ,

$$h(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots, \quad \text{for } z \in U.$$

## 2 Coefficient bounds for the function class $B_{\Sigma}(n, \mu, \lambda, \alpha)$

**Definition 2.1.** A function  $f(z)$  given by (1.1) is said to be in the class  $B_{\Sigma}(n, \mu, \lambda, \alpha)$  if the following condition are satisfied

$$(2.1) \quad f \in \Sigma \quad \text{and} \quad \left| \arg \left( \frac{(1 - \mu)\Omega_{\lambda}^n f(z) + \mu\Omega_{\lambda}^{n+1} f(z)}{z} \right) \right| < \frac{2\pi}{z}$$

$$(n \in N_0, \quad 0 < \alpha \leq 1, \quad \mu \geq 1, \quad 0 \leq \lambda < 1, \quad z \in U)$$

$$(2.2) \quad f \in \Sigma \quad \text{and} \quad \left| \arg \left( \frac{(1 - \mu)\Omega_{\lambda}^n g(w) + \mu\Omega_{\lambda}^{n+1} g(w)}{z} \right) \right| < \frac{\alpha\pi}{z}$$

$$(n \in N_0, \quad 0 < \alpha \leq 1, \quad \mu \geq 1, \quad 0 \leq \lambda < 1, \quad z \in U)$$

where the function  $g$  in given by

$$(2.3) \quad g(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4$$

we begin by finding the estimates on the coefficients  $|a_2|$  and  $|a_3|$  for function in the class  $B_{\Sigma}(n, \mu, \lambda, \alpha)$ .

**Theorem 2.1.** Let the function  $f(z)$  given by (1.1) be in the class  $B_{\Sigma}(n, \mu, \lambda, \alpha)$  ( $n \in \mathbb{N}_0$ ,  $0 < \alpha \leq 1$ ,  $\mu \geq 1$ ) and  $0 \leq \lambda < 1$ ). Then

$$(2.4) \quad |a_2| \leq \frac{2\alpha}{\sqrt{(1-\mu)\{\pi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1} + \alpha[2(1-\mu)\{\phi(3, \lambda)\}^n + 2\mu\{\phi(3, \lambda)\}^{n+1}] - [(1-\mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(3, \lambda)\}^{n+1}]^2}}$$

and

$$(2.5) \quad |a_3| \leq \frac{2\alpha}{[(1-\mu)\{\phi(3, \lambda)\}^n + \mu\{\phi(3, \lambda)\}^{n+1}]} + \frac{4\alpha^2}{[(1-\mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1}]^2}$$

*Proof.* It follows from (2.1) and (2.2) that

$$(2.6) \quad \frac{(-\mu)_{\lambda}^n f(z) + \mu \Omega_{\lambda}^{n-1} f(z)}{z} = [p(z)]^{\alpha}$$

and

$$(2.7) \quad \frac{(-\mu)_{\lambda}^n g(w) + \mu \Omega_{\lambda}^{n+1} g(w)}{z} = [q(w)]^{\alpha}$$

where  $p(z)$  and  $q(w)$  in  $p$  and  $q$  have the form

$$(2.8) \quad p(z) = 1 + p_1 z + p_2 z^2 + p_3 z^3 + \dots$$

$$(2.9) \quad q(w) = 1 + q_1 w + q_2 w^2 + q_3 w^3 + \dots$$

Now equating the coefficients in (2.6) and (2.7), we have

$$(2.10) \quad [(1-\mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1}]a_2 = \alpha p_1$$

$$(2.11) \quad [(1-\mu)\{\phi(3, \lambda)\}^n + \mu\{\phi(3, \lambda)\}^{n+1}]a_3 = \alpha p_2 + \frac{\alpha(\alpha-1)}{2} p_1^2$$

$$(2.12) \quad -[(1-\mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1}]a_2 = \alpha q_1$$

$$(2.13) \quad [(1-\mu)\{\phi(3, \lambda)\}^n + \mu\{\phi(3, \lambda)\}^{n+1}](2a_2^2 - a_3) = \alpha q_2 + \frac{\alpha(\alpha-1)}{2} q_1^2.$$

From (2.10) and (2.12), we obtain

$$(2.14) \quad p_1 = q_1$$

and

$$(2.15) \quad 2[(1 - \mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1}]a_2^2 = \alpha^2(p_1^2 + q_1^2).$$

Now from (2.11), (2.13) and (2.15), we immediately have

$$\begin{aligned} 2[(1 - \mu)\{\phi(3, \lambda)\}^n + \mu\{\phi(3, \lambda)\}^{n+1}]a_2^2 & \\ &= \alpha(p_2 + q_2) + \frac{\alpha(\alpha - 1)}{2}(p_1^2 + q_1^2) \\ &= \alpha(p_2 + q_2) + \frac{\alpha(\alpha - 1)}{2} \frac{2[(1 - \mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1}]a_2^2}{\alpha^2} \\ &= \alpha(p_2 + q_2) + \frac{(\alpha - 1)}{\alpha} [(1 - \mu)\{\phi(2, \lambda)\}^n + \mu\{\phi(2, \lambda)\}^{n+1}]^2 a_2^2. \end{aligned}$$

Therefore, we have

$$\begin{aligned} [2\alpha\{(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}\} \\ - (\alpha - 1)\{(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}\}^2] a_2^2 \\ = \alpha^2(p_2 + q_2) \end{aligned}$$

or

$$a_2^2 = \frac{\alpha^2(p_2 + q_2)}{[2\alpha\{(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}\} - (\alpha - 1)\{(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}\}^2]}$$

or

$$a_2^2 = \frac{\alpha^2(p_2 + q_2)}{[(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2 + \alpha[2(1 - \mu)(\phi(3, \lambda))^n + 2\mu(\phi(3, \lambda))^{n+1}] - [(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2}.$$

Applying Lemma 1.1 for the coefficients  $p_2$  and  $q_2$ , we immediately obtain

$$|a_2| \leq \frac{2\alpha}{\sqrt{[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2 + \alpha[2(1 - \mu)(\phi(3, \lambda))^n + 2\mu(\phi(3, \lambda))^{n+1}] - [(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2}}.$$

Next, in order to find the bound on  $|a_3|$  by subtracting (??) from (2.11), we have

$$\begin{aligned} 2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}](a_3 - a_2^2) \\ = \alpha(p_2 - q_2) + \frac{\alpha(\alpha - 1)}{2}(p_1^2 - q_1^2) \end{aligned}$$

$$2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]a_3 \\ = \alpha(p_2 - q_2) + \frac{2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]2^2(p_1^2 + q_1^2)}{2[(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2}$$

or

$$a_3 = \frac{\alpha(p_2 - q_2)}{2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]} \\ + \frac{\alpha^2(p_1^2 + q_1^2)}{2[(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2}.$$

Applying Lemma 1.1 once again for the coefficients  $p_1, p_2, q_1$  and  $q_2$ , we have

$$|a_3| \leq \frac{2\alpha}{[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]} \\ + \frac{4\alpha^2}{[(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2}.$$

This complete the proof of Theorem 2.1.  $\square$

### 3 Coefficients bounds for the function class $H_\Sigma(n, \mu, \lambda, \beta)$

**Definition 3.1.** A function  $f(z)$  given by (1.1) is said to be in the class  $H_\Sigma(n, \mu, \lambda, \beta)$  if the following conditions are satisfied

$$(3.1) \quad f \in \sum \text{ and } \operatorname{Re} \left( \frac{(1 - \mu)\Omega_\lambda^n f(z) + \mu\Omega_\lambda^n f(z)}{z} \right) > \beta \\ (0 < \beta \leq 1, \mu \geq 1, n \in N_0, 0 \leq \lambda < 1, z \in U)$$

and

$$(3.2) \quad \operatorname{Re} \left( \frac{(1 - \mu)\Omega_\lambda^n g(w) + \mu\Omega_\lambda^n g(w)}{w} \right) > \beta \\ (0 < \beta \leq 1, \mu \geq 1, n \in N_0, 0 \leq \lambda < 1, z \in U)$$

when the function  $g$  is defined by (??), we note that for  $\lambda = 0$ , the class  $H_\Sigma(n, \mu, \lambda, \beta)$  reduces to the class  $H_\Sigma(n, \mu, \beta)$  studied by Porwal and Darus [9] and for  $\lambda = 0, n = 0$  and for  $n = 0, \lambda = 0, \mu = 1$ , the class  $H_\Sigma(n, \mu, \lambda, \beta)$  reduces to the classes  $H_\Sigma(\mu, \beta)$  and  $H_\Sigma(\beta)$  studied by Frasin and Aouf [?] and Srivastava et al. [11] respectively. Theorem let the function  $f(z)$  given by (1.1) be in the class  $H_\Sigma(n, \mu, \lambda, \beta)$ ,  $n \in N_0, 0 \leq \beta < 1, \mu \geq 1$  and  $0 \leq \lambda < 1$ . Then

$$(3.3) \quad |a_2| \leq \frac{\sqrt{2(1 - \beta)}}{\sqrt{[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]}}$$

and

$$(3.4) \quad |a_3| \leq \frac{4(1-\beta)^2}{[(1-\mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2} + \frac{2(1-\beta)}{[(1-\mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]^2}$$

*Proof.* It follows from (3.1) and (3.2) that there exist  $p(z) \in P$  and  $g(z) \in P$  such that

$$(3.5) \quad \frac{(1-\mu)\Omega_\lambda^n f(z) + \mu\Omega^{n+1} f(z)}{z} = \beta + (1-\beta)p(z)$$

and

$$(3.6) \quad \frac{(1-\mu)\Omega_\lambda^n g(w) + \mu\Omega^{n+1} g(w)}{w} = \beta + (1-\beta)q(w)$$

where  $p(z)$  and  $q(z)$  have the form (2.8) and (2.9) respectively.

Now equating coefficient in (3.5) and (3.6), we obtain

$$(3.7) \quad [(1-\mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]a_2 = (1-\beta)p_1,$$

$$(3.8) \quad [(1-\mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]a_3 = (1-\beta)p_2,$$

$$(3.9) \quad [(1-\mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]a_2 = (1-\beta)q_1,$$

and

$$(3.10) \quad [(1-\mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}][2a_2 - a_3] = (1-\beta)q_2.$$

From (3.7) and (3.9), we have

$$(3.11) \quad p_1 = q_1$$

and

$$(3.12) \quad 2[(1-\mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]a_2^2 = (1-\beta)^2(p_1^2 + q_1^2).$$

Also, from (3.8) and (3.10), we find that

$$(3.13) \quad 2[(1-\mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]a_2^2 = (1-\beta)(p_2 + q_2)$$

or

$$a_2^2 = \frac{(1-\beta)(p_2 + q_2)}{2[(1-\mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]}$$

or

$$|a_2^2| \leq \frac{2(1-\beta)}{2[(1-\mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]}$$

which is the bound on  $|a_2|$  as given by (3.3).

Next, in order to find the bound on  $|a_3|$ , by subtracting (3.10) from (3.8), we get

$$\begin{aligned} & 2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}][a_3 - a_2^2] \\ & = (1 - \beta)(p_2 - q_2) \end{aligned}$$

or, equivalently

$$a_3 = a_2^2 + \frac{(1 - \beta)(p_2 - q_2)}{2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]}.$$

upon substituting the value of  $a_2^2$  from (??), we find that

$$\begin{aligned} a_3 & = \frac{(1 - \beta)^2(p_1^2 + q_1^2)}{2[(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2} \\ & + \frac{(1 - \beta)(p_2 - q_2)}{2[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]}. \end{aligned}$$

Applying Lemma 1.1 for the coefficients  $p_1, p_2, q_1$ , and  $q_2$ , we have

$$\begin{aligned} a_3 & = \frac{4(1 - \beta)^2}{[(1 - \mu)(\phi(2, \lambda))^n + \mu(\phi(2, \lambda))^{n+1}]^2} \\ & + \frac{2(1 - \beta)}{[(1 - \mu)(\phi(3, \lambda))^n + \mu(\phi(3, \lambda))^{n+1}]}, \end{aligned}$$

which is the bound on  $|a_3|$  as asserted in (3.4).  $\square$

**Remark 3.1.** *If we put  $\lambda = 0$  in Theorem 2.1 and 3.1 we obtain the corresponding results due to Porwal and Darus [9].*

**Remark 3.2.** *If we put  $\lambda = 0$  and  $n = 0$  in Theorem 2.1 and 3.1 we obtain the corresponding results due to Frasin and Aouf [?].*

**Remark 3.3.** *If we put  $\lambda = 0, n = 0$  and  $\mu = 1$  in Theorem 2.1 and 3.1 we obtain the corresponding results due to Srivastava et al. [11].*

**Remark 3.4.** *It would be of interest to find the estimates (not necessarily sharp) for  $a_n$ ,  $n \geq 4$ .*

## References

- [1] M. Chen, On the functions satisfying  $Re \left( \frac{f(z)}{z} \right) > \alpha$ , Bull. Inst. Math. Acad. Sincia 3(1975) 65-70.
- [2] P.N. Chichra, New subclasses of the class of close-to-convex function, Proc. Amer. Math. Soc. 62 (1977) 37-43.



- 
- [3] B.A. Frasin, M.K. Aouf, New subclasses of bi-univalent functions, *Appl. Math., Lett.*, 24 (2011) 1569-1573.
  - [4] S.S. Ding and Y. Ling and G.J. Bao, Some Properties of a Class of Analytic Functions, *J. Math. Anal. Appl.* 195 (1) (1995) 71-81.
  - [5] K.K. Dixit and S. Porwal, A new subclass of harmonic univalent function defined by fractional calculus operator, *General Mathematics* Vol. 19, No. 2 (2011), 81-89.
  - [6] T.H. Macgregor, Functions whose derivative has positive real part, *Trans. Amer. Math. Soc.* 104 (1962) 532-537.
  - [7] S. Owa, On the distortion theorem, I, *Kyungpook Math. J.*, 18 (1978), 53-59.
  - [8] C.R. Pommerenke, *Univalent function*, Vandenhoeck and Ruprecht: Göttingen, 1975.
  - [9] S. Porwal, M. Darus, On a new subclass of bi-univalent functions, *Journal of the Egyptian Mathematical Society* (2013).
  - [10] Salagean 1983 G.S. Salagean, Subclasses of univalent functions, *Complex Analysis-Fifth Romanian Finish Seminar*, Bucharest, 1 (1983), 362-372.
  - [11] H.M. Srivastava, A.K. Misra, P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, *Appl. Math. Lett.* 23 (2010) 1188-1192.
  - [12] H.M. Srivastava and S. Owa, An application of the fractional derivative, *Math. Japon.*, 29 (1984), 383-389.
  - [13] N. Tuneski, Some simple sufficient conditions for starlikeness and convexity, *Appl. Math. Lett.* 22 (2009) 693-697.